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1. TH EEE 25% fhad st 0.25 1@« ot o gEm S 7

1 12.5 @) 1.25 (3) 1 @) 1.5
If 25% of a number is 0.25, then the number is
1) 12.5 (2) 1.25 (3) 1 (4) 1.5

2. U A T Gerrean T SKIW 2795 TR TR @ TR 65 3T, T 1 S fohel] 0ot 16T ¢
(1) 45 2) 55 (3) 43 (4) 40

The total of marks of all students in one class is 2795 and average is 65. How many
students are in that class ?

(1) 45 (2) 55 (3) 43 (4) 40

3. @rete T s gegn e -
1, 5 11, 19,[ | 41

(1) 29 ) 27 (3) 30 (4) 31
Find missing number in following series :

1,5 11,19,[ |, 41

(1) 29 (2) 27 (3) 30 (4) 31

4., W 123456789 x9=111111111 3T 123456789 x A =222 222 222 W A =2

(1) 45 2) 36 (3) 27 4) 18
If 123456789 x9=111111111 and 123456789 x A = 222 222 222 then A = ?
(1) 45 (2) 36 (3) 27 (4) 18

5. | [(1024+2%)x32] + 22 =2

(1) 1024 @ 512 (3) 32 4) 256

J [(1024 + 2%)x32] + 2% =7

(1) 1024 @) 512 3) 32 4) 256
6. 3°

8—2—27“—'-'9

@ o @) 10 @) 27 ) 52

35

Z-27="

1 o 2) 10 3) 27 4) 52
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7. WEEl:
65 96) (25 44 32 80
— e X = — ||| =
13 16 25 11 16 10
(1) 15.4 (2) 1.54 (3) 0.154 (4) 0.0154
Solve :
65 96 25 44 32 80
L X — || = —
13 16 25 11 16 10
1) 15.4 (2) 1.54 (3) 0.154 (4) 0.0154
8. TR A FRCRTE! @l 60 §2 9 ¥ 45 B AR, W 3 B Tl 3 ) e ) weam wven
ST FmTde ?
(1) 450 (2) 600 (3) 900 (4) 300
One wedding hall has a length of 60 ft. and width of 45 ft. How many tiles of length
and width 3 ft. are required for its flooring ?
1) 450 (2) 600 (3) 900 (4) 300
9. 7663 T GBS 6 T WA wfE fhadidie e Tt 7
(1) 660 (2) 540 (3) 630 (4) 450
What is the difference in place value of 6 in number 7663 ?
(1) 660 @) 540 (3) 630 (4) 450
10. Gl Fvear gead 5 3 . 9o St 7
(1) 3752 (2) 3725 (3) 2537 (4) 3876
Which of the following No. is completely divisible by 5 ?
(1) 3752 @) 3725 (3) 2537 (4) 3876
11, Trhe=ar siamr feme @9%e 20096 <. W, TR, IR umEl Gur ATHRET TR FSURT
5 HYex 3Ta ST fahet #iet 0 T 7
(1) 502.4 T (2) 402.4 X (3) 471 HiX (4) 571 HiK
The area of a circular cricket ground is 20096 sq.m. To mark boundary line 5 m.
inside from the outer edge of the ground for four run marking, how many metre
rope is needed ?
(1) 502.4m (2) 402.4m (3) 471 m (4) 571 m
12, ST 10x+24 =29x+5 W x =

(1 -1 (2) +1 3y +2 (4) +3
If10x+24=29x + 5, thenx =
(1) -1 2y +1 (3) +2 (4) +3
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arght 45 FoR Y. SR SO 400 Hiet AiEiET JITEMEE, 400 Wi ST e Adrerad frd @
e ?
(1) 64 sec. (2) 85 sec. (3) 36 sec. (4) 70 sec.

What will be the time required for 400 meter long train to cross 400 meter long
bridge when it is travelling with speed of 45 km/hr. ?
(1) 64 sec. (2) 85 sec. (3) 36 sec. (4) 70 sec.

14,

Terfersreh e wem Sfiemed 13 o H). ST SId &for Ueie=n 20 5 1.55 T8 ufd et s, sk farfasren
350 fo6.H. SHcTrEn vard FUEaTET 3@ T e TR 20 W gl @ FOdl Jne
(1) 1,388 T3 (2) 1,358 ¥@  (3) 1,348 ¥W (4) 1,338 TR

Kshitij’s car gives milage of 13 km/litre and petrol cost is Rs. 51.55 per litre. If
Kshitij goes for a journey of 350 km, what will be amount he will be spending on
petrol ?

(1) Rs. 1,388 (2) Rs. 1,358 (3) Rs. 1,348 (4) Rs.1,338
15. 15, 7, 16, 8 301 K g wymdl 13 da @A @ K =
(1) 20 (2) 18 3) 9 (4) 19
If average of 15, 7, 16, 8 and K is 13 then the value of K is
(1) 20 (2) 18 3) 9 4) 19
16. H; _& _
12 | 36
(1) 3/5 (2) 5/3 (3) —5/3 (4) -3/b
17 (_85 .
12 | 36
(1) 3/5 (2) 5/3 (3) —5/3 (4) —3/5
17. At wrd faaren 6 wirger wedla wiag enfi fdms=h aued o 8 Sirgz =i

e A3h 3R, A= gt} & Fda=a so=n Z— 72 AR, R e afe=en 8,000 TR
el @ i @ aft=en fordt w03 fisfae ©
(1) 6,000 ¥4 (2) 10,000 ¥&  (3) 7,000 ¥ (4) 9,000 ¥

Amit averages 6 computer service calls per day and Nitin averages 8 computer

service calls per day. If Amit’s average charge is — times as much as that of Nitin,

2
who earns Rs. 8,000/- in a month then how much Amit earns in that month ?

(1) Rs.6,000/-  (2) Rs.10,000/~ (3) Rs.7,000/- (4) Rs. 9,000/-
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18.

6 A
SR 3756 x 25 =93900, W 3.756 x 25 =
(1) 9.3900 (2) 93.900 (3) 9239 (4) 93900
[f 3756 x 25 =93900,then 3.756 x 25 =
(1) 9.3900 (2) 93.900 (3) 939 (4) 93900

19.

ufeel! e gEiea e 9 el fowe o, fordh e aumdt 44 o ® wfeeft @@ #e.
(1) 72 (2) 69 (3) 70 (4) 62
Three numbers are such that first number is double of second number and triple

of the third number. The average of these three numbers is 44. Find out the first
number,

(1) 72 (2) 69 (3) 70 (4) 62
20, i SR 20/07/1969 € AR, T 02/04/2010 1 Rash & 39 Tt o/ ?
(1) 4139 3 wfz 18 fam (2) 409 3 wiEt 18 feam
(3) 403 8 AR 12 faam (4) 4199 8 AR 12 feaw
Pravin’s birth date is 20/07/1969. What is his age on date 02/04/2010 ?
(1) 41 years 3 months 18 days (2) 40 years 3 months 18 days
(3) 40 years 8 months 12 days (4) 41 years 8 months 12 days
21, ITEIE hggFd Ueil e TEEATd.
(1) 7o (2) Sam (3) et (4) = oEh
Prokaryotic cells are found in
(1) Amoeba (2) Bacteria (3) Hydra (4) Redcells
22, TETRER =1 379ma Fmtor .
(1) et (2) tara (3) AR (4) TeFifees A
Alcoholism causes deficiency of
(1) Thiamine (2) Retinol (3) Niacin (4) Ascorbic acid
23. C B Ve gEutie 9 ST 1.5 B FIoN TN SqadTe hedTd Y] SHrantie an

foreft 7
(1) 1.5C (2) % (3) C (4) (1.5)°C

If C is the velocity of light in air and refractive index of glass with respect to air1s
1.5 then velocity of light in glass is given by

(1) 1.5C (2) % 3) C (4) 1.5)°%C

Foodl HTHETET AT /SPACE FOR ROUGH WORK
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24, 9T T 1 I 3T,
(1) 4°C (2) 25°C (3) 0°C 4) 73°C
Density of water is maximum at
(1) 4°C (2) 25°C (3) 0°C (4 73° C
25. THY TS Yogelsl U9 I g, HH 2 T e et .
(1) deget (2) YA (3) Heyger (4) Hogad

Human being is unable to digest cellulose of vegetables because

enzyme is not made available in his stomach.

(1) Cellulase (2) Pepsin (3) Celluline (4) Cellupase
26. @Al FHorel aeadl, ESwme 91 Gadil s sia I A ?

(1) et 2 we (3) T (4) sfaeafe

Which of the following is not from the class of Pteridophyta ?

(1) Filicinae (2) Musci (3) Lycopodium (4) Equisetinae
27. e ssFA Tata v veE AR,

(1) THARA (2) TAsfiad (3) yfafr@ea (4)

The most effective method of reproduction in bacteria is _

] G TR

(1) Budding (2) Regeneration (3) Binary fission (4} Gametic union
28, T A S o,

(1) wmemiisan (2) e (3) wEefEn (1) oAftferan

Malaria disease is caused by

(1) Plasmodium (2) Planaria (3) Filaria (4) Aurcha
29. SESEHREA SHT HIEA FAT IR,

(1) 0.03% 2) 0.3% (3) 3% (4) 0.003%

The percentage of carbon in biogeochemical cycle is

(1) 0.03% (2) 0.3% (3) 3% (4) 0.003%

30.

VAT FFAA A S FIED T §IvATges Igoaar ¢

(1) ¥ g ©) Faw g

(3) T (4) Fagfeem

Which eye defect arises due to slight elongation of eye ball ?
(1) Myopia (2) Hypermetropia
(3) Colour blindness (4) Presbyopia

oS HIATETS AN/ SPACE FOR ROUGH WORK
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31. T AT ST SR TR FEUTTe.
(1) Ffereree forde (2) fafes offts
(3) 3T (4) fuafesesss
The solution of in water is called Vinegar.
(1) Methylated spirit _ (2) Aceticacid
(3) Ethanol (4) Acetaldehyde
32. ® &Ra g a1y e,
(1) CH, «f Co, (2) CH, It C,H,
(3) CO, 3 C,H, 4 C,H, 3nfr C,H,
Green house gases are
(1) CH4 and CO, (2) CH, and C,H;
(3) CO, and C,Hq 4) C,H, and C,;H,
33, Vm HYCY fRAT it ST TR S S EE GGG
(1) FEF (2) THEMRS
(3) ¥ CYMELGE
In photosynthesis green plants convert solar energy in to energy.
(1) Mechanical (2) Chemical
(3) Atomic (4) Electric

34, W10 ¥4, Mfrr e gl I 5 TR 10 9.9, STatet Sac @ e gartt v
s foreft ard ¢
(1) 1D () 10D (3) 100D (4) 0.1D
If two lenses of focal length 10 cm each are kept at 10 cm distance away from each
other then what will be power of the combined lens ?

(1) 1D 2) 10D (3) 100D (4) 0.1D
35. sfales sffte=m fora g@omen TR

(1) s (2) Ui

(3) sf3d (4) T

The dilute solution of Acetic Acid is called as

(1) Ethylene (2) Paraffin

(3) Benzene (4) Vinegar

FoA FIHETE AFT/SPACE FOR ROUGH WORK
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36. Telio 3reEs I Hgferd TaEfiE it T IR,
(1) CaCO5+2HCl —»CaCly + H,0+CO, T
(2) CaCO4+HCl — CaCl, + H,0 +CO, T
(3) CaCO;+2HC] — CaCl, +H,0 +CO, T
(4) CaCOz+2HCl - CaCl+H,0+C0, T

Which of the following is correct and balanced equation ?
(1) CaCO,4+2HCl —CaCly +H,0+C0O, T

(2) CaCOg4+HCI — CaCl, + H,0+CO, T
(3) CaCO;+2HCl - CaCl,+H,0 +CO, T
(4) CaCO4+2HCl —CaCl+H,0+CO, T

37. 1 Tl oRgqam Soid ST Sheard fahd) S fiig w7

(1) 9x10" A (2) 3x10%° g

(3) 9x10'"° g (4) 3x10%

How much energy can be obtained by converting 1 mg mass into energy ?
(1) 9x107 Joule (2) 3x10!° Joule

(3) 9x10'° Joule (4) 3x10% Joule

38. WCiiciish! HIOTAT YT Fald S ek a7 Yo Je! ST SR 9 FTate

AR B TR 9%
(1) e =9 AgEhM (2) TF FY T
(3) THHI Y (4) U= Y IFTSATAT ™

Which of the following substances gives us the maximum calories ? Assuming
same volume cup is used in each case.

(1) A cup oficecream (2) A cup of sharbat

(3) A cup of milk (4) A cup of mango juice

39. ‘'m’ IERIAN FEA TR v A IIAH T I8 T @ st Feit

2

2 1 1o 2 1. 2
(1) mv (2) 2mv (3) 3mv (4) 5 kx

A body of mass ‘m’ moving with a speed v its kinetic energy is

2 1 .2 1 .2 1, 2
(1) mv @) Smv (3) gmv (4) 2kx

wHee] HIHTATST AT/ SPACE FOR ROUGH WORK
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40, TF X umit 4° @, 91gF 3° 9. 9hq o2 Fea™
(1) g AFREM HHl 8i5d & 591 gied
(2) AT AR d1ee d TaT HH) BiEa
(3) MUt AEHREF FHI Ei5 9 a1 TRR Tde
(4) VAT ATRTHF TR § 99T Ter TE

If one litre water is cooled from 4° C to 3° C then

(1) Water's volume decreases and density increases

(2} Water's volume incrcases and density decreases

(3) Water’s volume decreases and density remains constant

(4) Water’s volume increases and density remains constant

41, YTREATT FTPT FEATER FSIT HIATE B TE FHOER W96 98l ¢

(1) e wTd
(3) TI™A =T

(2) W Hdl
(4) 3Nenfier Hwh

Which revolution had a great effect on Indian Workers’ Organizations ?

(1) American Revolution

(3) Russian Revolution

(2) French Revolution
(4) Industrial Revolution

42, g% hIcThH oITET ¢
(37) TRt TUgAT
@ =R e
(@) TERM e wl

(3) TEERHE HGAT &8
A=1;d=2;%=3;8=4
() A, 9,%,8(, 2, 3,4
3y #,8,A,9(3,4, 1, 2)

(zive an appropriate chronology
(A) Foundation of Gadar Party
(B) Episode of Chauri Chaura
(C) Gallows of Khudiram Bose
(D) The revolt of Mopalas

A=1;B=2;C=3;,D=4
(1) A/B,C,D(1,2,3,4)

(3) C,D,A,B(3,4,1,2)

(2) a’ 31! g! E (2! 17 4’ 3)
4) 5, H,8,9(3, 1, 4, 2)

2) B,A,D,C(@21,4,3)
) C,A,D,B(@3,1,4,2)

Tl HTHTEE! AT/ SPACE FOR ROUGH WORK
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43. ‘gEiEY S@ad 3k Five ?
(1) FaemETTsS fheom=n yar o
(2) S T GHSTHTTS Teha TohTuT STl
3) Tega fody e
(4) TR TST TAT9 0

What was the object of ‘Vahabi Movement’ ?
(1) Spreading education among Muslims
(2) Unity of all Muslims in the world

(3) To oppose Hindu

(4) To establish the Muslim rule

44, T onfife g gn TR seEe 9 g

(1) T ot (2) GARERYT 7o e e
(3) =i BEl S TR AR (4) ORI SR < aTmRd

The economic policy of the British was known as

(1) Wealth of Nation (2) Drain of Wealth

(3) Both (1) and (2) (4) None of them

45, IR SATIRHT TS
(1) e U Ieqred 2oy
(2) Afmed FREHRR) IR0
(3) Tl wiE-fasht =
(4) yrafes fUss 99
The commercialization of Agriculture means
(1) To produce the cash crops
(2) To establish industry in Agriculture

(3) To sell and purchase the Agriculture
(4) To produce traditional crops

46. ‘swRaATSAT TG geft fydema s eitr SEmeeR R’ 1@ Imut yftren wwom ufe

e faramEa o ?
(1) &=emTE T (2) =/ &, 3. =, ™
(3) W=z & (4) e

Who was the first Indian thinker firmly stated that “British Economical Policy
was responsible for the poverty of Indians” ?

(1) Dadabhai Navroji (2) V.K.R.V.Rao

(3) Rameshchandra Datta {4) Vingate

—
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47. TE NG [ gus e uigen SIRETE st v E ?

(1) e FeifRud o (2) gy Sslt

(3) SAHASIEE SIS (4) TETEHAR HEEH

Who was the President of the first session of “Indian National Congress” at Mumbai ?
(1) Allen Octavian Hume (2) Surendranath Banerjee

(3) Wyomeshchandra Banerjee (4) Swatantryaveer Savarkar

48, Tairiean anfdfes URoMgR Yde SRR Fe TS
(1) ek e werh fewfe o
(2) FHI ST ATAST TR TGS T SATe
(3) TMadEETE SHHE STk e
(4) siftrrriirer T 2w 3@ Ieured ot

“Commercialization of agriculture was happened because of economical policy of

British” means

(1) Developments were made in agriculture with new inventions
(2) Ownership was transferred to zamindars in agriculture
(3) Area under cultivation was increased

(4) Take production for as much as profit

49. 1919 =1 ‘wie- w1 FRE T WUST Te) T et grne) Fee | Twfl et Fwivft et 7
(1) ST ToIatd (2) o fezw
(3) wRTenT A (4) dfeadew
Who criticized the ‘Mont-Ford Act’ of 1919 as ‘This is neither Swaraj, nor its

foundation’ ?

(1) Lala Lajpatrai (2) Lokmanya Tilak
(3) Mahatma Gandhi (4) Pandit Nehru
50, Teawe SfeAT B = T Tt et
(1) ST TEATS (2) vEmrsf o aut
(3) TETAASR HeEH (4) QISR F1F
established the ‘India House’ in London.
(1) ILala Hardayal (2) Shyamji Krishna Verma
(3) Swatantryaveer Savarkar (4) Subhashchandra Bose

THoAl HIATHEIE! AT /SPACE FOR ROUGH WORK
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51. ‘STEV{ieR TEUS! I 7
(1) xR ureaTgR IENTHT STeT
(2) wieen sEm=h i
(3) IeIEAT™ TSI 2 3fese
(4) 3renfies Icareq &Y B0

What is de-industrialization ?

(1) To run industry with the help of scientific inventions
(2) Creation of huge industries

(3) Profit was the only aim of production

(4} Declination of industrial production

52, IV TEATT TR HATERT BT Yo SHH Hede aqe wq 3 7

(1) FEAER (2) Waarl

(3) HETAAR] (4) smE

In which system government officers collected the revenue directly from farmers ?
(1) Permanent settlement (2) Rayatwari

(3) Mahalwari (4) Wayada

53. “‘f5dv 9N YRaTe ToERETH WYEAR AR 3 IR U Edl 95d S8 1917

areft i1 i ohel.
(1) | 2) i (3) mi=w (4) =FEHE
“In 1917, announced that the British Government would give

India the rights of self-government and introduce the system of responsible
government in step by step”.

(1) Morley (2) Minto (3) Montague (4) Chelmsford
54. oo wmm neaener finn am areft wref o=,

(1) 1860 (2) 1891 (3) 1900 (4) 1909

British Govt. hanged Madanlal Dhingra in

(1) 1860 (2) 1891 (3) 1900 (4) 1909

55. 1906 7ell TfeTa HeTe TUTOET e ATER SfTaigr s Foft et ¢

(1) HETeAT R ot (2) g HEWS

(3) Torger Tvshl @ (1) HASIOE TREFATE

Who worked for upliftment of Dalits by establishing Dalit Sangh in 1906 ?
(1) Mahatma Jyotiba Phule (2) Shahu Maharaj

(3) Vitthal Ramaji Shinde (1) Sayajirao Gaikwad

TS HTATATS 0T/ SPACE FOR ROUGH WORK
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56. Wil AR F=gash T ;
@) =1, Faege, &1, S fowes, M. 1. swre e a3, |, 1880 A% guana g el

e = TITET el

@) = fovegum, 1. SN, e, M. 71, svreR w= fowi 3. 9. 1881 Ted quaTg “ g et
WA =TT e,

(1) ‘9 TR R, WY T gHE A (2) F TR AR WY 31 Fh R

(3) ‘ar et T A I IR (4) ‘o e % A s o

Read the following sentences carefully :

{A) V. Chiplunkar, B. G. Tilak and G. G. Agarkar started “New English School” at
Pune in 1880.

(B) V. Chiplunkar, B. G. Tilak and G. G. Agarkar started “New English School” at
Pune in 1881.

(1) ‘A’istrue but ‘B’ is false (2) ‘B’istrue but ‘A’ is false

(3) Both are false (4) Both are true

57. IV FITEUR TTYITAT GHIG HIUAT HTeAl 7

(1) 1935 =1 HHEST (2) 1947 =1 T
(3) 1951 =1 &R (4) 1955 T FL
By which Act untouchability was ended ?
(1) 1935 Act (2) 1947 Act
(3) 1951 Act (4) 1955 Act
58. WETCH Bt AT TegvaTea Riamare darses (qo) A9 3. 9. T TMeHT T e,
(1) 1885 (2) 1852 (3) 1886 (4) 1863

For the education of untouchables Mahatma Phule started the school at Vetalpeth
(Pune) in the year
(1) 1885A.D, (2) 1852 A.D. (3) 1886 A.D. {(4) 1863 A.D.

59. Ud TUSGUNEHTET HRHNTET ILIT & Bral ¢
(1) HHESE quIJan A9 -goTeE] IRl
(2) ST TrEATEn iy w0 |
(3) wrfiles W= &=y
(4) TRATT SR TR H9
What was the one and only object behind the work of social workers ?
(1) Establishment of New Society based on Humanity
(2) To oppose the British Government

(3) To inculcate religious emotions
(4) To advocate democracy in India

HeT HIATHTS IT/SPACE FOR ROUGH WORK
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60. T GUSTHS TSaTTSd! § Sgucited AT TET it forier e g
(1) W g3 IEAg @M (2) Fhex fom
(3) WM Hsge THR TH (4) Tewa e
opposed the ‘Pardah’ system and polygamy in Muslim Society.
(1) Sir Sayyad Ahmad Khan (2) Barrister Jinnah
(3) Khan Abdul Gaffar Khan (4) Rahemat Ali

61. TG TUIT NI ‘TTIToaTe’ € RIHTE Wefl 9% FUUqraa] ‘el q Terd forgd =] Higed i

(1) IR 2 W 98 e

(2) wrrEm € v & FE

(3) Tit-fireqomen yEm & e 98 FHEE

(4) feg vmiA qerR 93 v &g FE

To stop the practice of Child Marriage Gopal Ganesh Aagarkar put his side hy
writing an article in Kesari that
(1) Society should ban this practice

(2) Law should ban this practice

(3) This practice should be stopped by spreading women education

(4) Hindu religion should take initiative to stop this practice

62. T g w0l ek g ke,
(1) weEdi =wd (2) HETH Fd
(3) T ig (4) feroopmeht afea
Marathi Drama ‘Trutiya Ratna’ was written by
(1) Maharshi Karve (2) Mahatma Phule
(3) Dadoba Pandurang (4) Vishnushastr: Pandit
63. STTER, UfSar WS FEcen Fooar G featuas i ?
(1) witemsm
(2) wH-gunszg
(3) Th-amumEz
(4) TIETEGA

Aagarkar was well wisher of Pandita Ramabai’s organization
(1) Mahilashram

(2) Stree Sudharak Kendra

(3) Stree Aadhar Kendra

{4) Sharda Sadan
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64. Tl I TERISTH] ShiceTR 39 XY Yerraid! G sholedl Tudg 919 %™ 8 7
(1) fegaetfean aadpe (2) e 3 TR
(3) TH . TH, $3R IEANE (4) *ff fhefrer sadhe
What was the name of the boarding school established for the untouchable students
by Rajarshi Shahu Maharaj ?
(1) Victoria Hostel (2) Miss. Clark Hostel
(3) S.M. Kreser Hostel (4) Shri Fhitziral Hostel

65. WETHT Fetean Idiel Hver auiwan g 91 e werre gefn ffeeten fey wamar snaria

IR ?
(1) =mmTe forie (2) enfifer fedrefer
(3) Term=a e (4) Derfirr e

On which topic the essay written by Muktai a fourteen years old girl in Mahatma
Phule’s School was based on ?

(1) Social condition (2) Religious condition
(3) Women condition (4) Educational condition
66. TEYl &d gl Aefi ERIEEIRRICRIING ISR e R
(1) B (2) eFA
(3) T WIHATS (4) s
Maharshi Karve was the Professor of Mathematics in college at
Pune.
(1} Fergusson (2) Deccan
(3) Sir Parshurambhau (4) Wadia

67. WeHl &d I uTHiv W e SER e 3.0 9. 1936 Ae He IS
(1) wfeen frenew
(2) I ST
(3) ™ ek e qew
4) HHaEd
Maharshi Karve started an institution in 1936 A.D. to spread education among
villagers
(1) Mahila Vidyalaya
(2) Anath Balikashram
(3) Gram Prathamik Shikshan Mandal
(4) Samata Munch

HeodT HIHTETE ANTT/SPACE FOR ROUGH WORK
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68. TETTHT FolsdT HeaNes TS HAMfaeg, AT ISHeEr ?

(1) S-TemiR (2) fifes e

(3) HETRRR AR (4) Traw=aT! TAWRT
‘Satyashodhak Samaj’ of Mahatma Phule raised the voice against
(1) Women’s slavery (2) Religious slavery

(3) Social slavery (4) Farmer’s slavery

69. SITg HERNI G e =T STRTHATE S50 ShTUTRT STIge . 3797 Ferel YTeaT\ shivren ATTenti]

Felet IR 7
(1) 9451 &R (2) T 9. qREAE
(3) wedl fags tmsh e (4) =1 3. . wE&

Which biographer described Shahu Maharaj as the Pioneer of making the
announcement of arrival of new era ?

(1) Dhananjay Keer (2) R.B.Parasnis
(3) Maharshi Vitthal Ramaji Shinde (4) Dr.Y.D. Fadke

70. cidaEE) w TSl T el
(1) T WES (2) wfgen fardis
(3) TTREN (4) frrm Friws
Karve had established society to serve the people.
(1) Gram Mandal (2) Women University
(3) Gramraksha (4) Nishkam Karmamath
71. AT < FIEe &N
(1) wr9e (2) B (3) QI (4) TR
Agarkar was the Editor of
(1) Shatpatre (2) Harijan (3) Sudharak (4) Maratha

72. IV FHEET FEUS - JEATAT WIS WIGTE [T TR g HERSTE U HihR] e

G
(1) fovaren qadawmn Fre (2) AT feremer Fre
(3) FCERITET T THETET U] (4) T T8 HfEe SRl el

Which was the Revolutionary Act of Shahu Maharaj who advocated social freedom
of men and women ?

(1) Widow Remarriage Act (2) Inter Caste Marriage Act
(3) Divorce and Heritage Act (4) Cruel Behaviour Preventive Act

THEET HIFTATS] AW /SPACE FOR ROUGH WORK
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73. T U] AR GUTh 8 AT FIGUATHRTET 3831 & Bal ?
(1) Tz faeomn wfwr
(2) -7 THEda EiHR
(3) T denfier g wWiEr
(4) adi-TETaAET WiER
What was the object of Gopal Ganesh Aagarkar behind starting the weekly
“Sudharak” ?
(1) Acceptance of western education
(2) Acceptance of male-female equality
(3) Acceptance of new scientific views

(4) Acceptance of human freedom

74. Tewwr frme g1y 1 gema forfga,
(1) 3HEAH (2) F@e (3) wer (4) FEHGAT
Tilak wrote Gita Rahasya, in Jail.
(1) Andaman (2) Yeravada (3) Mandalay (4) Ahmednagar

75. Tedl weaHl 21 THE, 1944 A= TGS el oFa1 G99 Facd] GEI g2 dd Fe ¢
(1) Shefi-Frjem deen (2) Sf-T%9 T 69
(3) w-ge9 e o9 (4) @4 g Oy
In which organization “Samata Sangha”, established on 215 April, 1944 by
Maharshi Karve, was included ?
(1) Jati-Nirmulan Sanstha (2) Stree-Purush Samanta Sangh
(3) Stree-Purush Shikshan Sangh (4) Sarvadharmiya Sangh

76. Wedl FwAtT 3 5, 1916 USH TumA srerean afgan fenfurs= Swon o et ?
(1) mfe gig gfeefid (2) Rt g e
(9) T TR FFeeRid (4) F g g
From where the inspiration of establishing the University of women (3'4 June, 1916)
was taken by Maharshi Karve ?
(1) America Women’s University (2) Moscow Women's University

(3) Japan Women’s University (4) France Women’s University

whoed] SHINTETE! TIRTT/SPACE FOR ROUGH WORK



A 19 MNS

77. E1. TEERS JETHUA 1923 Hiell ded fyafiem sefirEe Fiven ySuTeee Sidet o1
e ged faed ?
(1) ‘T isery 37T w4
(2) ‘T Wised &7 B
(3) ‘ofeieym sivg v i T $ few wuAr
(4) ‘% geeregTA 32 frdiue e g T R’
For which theses in Economics, London University awarded ‘The degree of Doctor
of Science’ to Dr. Ambedkar in 1923 ?
(1) ‘The problems of rupee’
(2) ‘The problems of money’
(3) ‘Administration and finance at the East India Company’
(4) “The evolution at principal finance in British India’

78. FUMHIA T, MHEH UG U e Hiea Tereie =T T 'l 7
(1) T (2) afewpa wRa
(3) THAIA (4) 99§ ¥9Rd
In which weekly the articles of Dr. Ambedkar are referred as “Thoughtful books
decorated by the beauty of style” ?
(1) Muknayak (2) Bahishkrut Bharat
(3) Samatapatra {(4) Prabuddha Bharat

79. HICETIIAEA A%a Fero Som=r et HIvit ge e ?

(1) FHIR =0E TR (2) g HEWS

(3) M. F.MEA (4) . TTERE ATEH

Who started numbers of free schools in Kolhapur ?

(1) Karmaveer Bhaurao Patil (2) Shahu Maharaj

(3) G.K.Gokhale (4) Dr.Babasaheb Ambedkar

80, ‘‘Ehriren e 101 Ram’’ ® e sl fafdet ?

(1) S faw (2) FeuER

(3) R (4) . aTEE

Who wrote the book entitled “Dongarichya Turungatil 101 Divas” ?
(1) Lokmanya Tilak (2) Chiplunkar

(3) Aagarkar (4) Dr. Ambedkar

HTST HIHTETS] ATWT/SPACE FOR ROUGH WORK
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81, HTAFSTN N I BT ST SHATERTET <7 3R,
(1) @A (2) 9 (3) @rd (4) ==
Area wisc India ranks in the world.
(1) Third (2) Fifth (3) Seventh (4) Ninth
82. W, TEME 9 HIIHIT THaTT TIH e SR,
(1) FA=A (2) =FIfER (3) (4) A=m
The Zaskar, Ladakh, Karakoram ranges are located in Himalaya.
(1) Kumaun (2) Kashmir (3) Eastern (4) Central
83. T RATAA Tatd 39 Sera] 37,
(1) S (2) TR (3) HAURI (4) TEEgz
is the highest water fall in India.
(1) Jog (2) Nayagara (3) Kapildhara {4) Shivsamudra
84. WA A ETOET hefl S,
(1) =& (2) =1 (3) 91d (4) W=
The cattle census is conducted after every years in India.
(1) Ten (2) Twelve (3) Seven (4) Five
85. W, I 310 firetfie ar =n a7 T T YT TR,
(1) (2) = (3) HEMEE 4) Ty
The river Shyok, Zaskar and Gilgit are the main tributaries of river
(1) Ganga (2) Kosi (3) Mahananda (4) Indus
86. T TSI A9 IeqTeTd ST SR,
(1) I (2) HEWTSg
(3) wAH (4) T
is the leading state in Tobacco production.
(1) Andhra Pradesh (2) Maharashtra
(3) Karnataka (4) Gujarat
87. Wi~ fae-ge &1 Uil memn! wHiE AR,
(1) I (2) aq (3) GId (4) 1B
Solapur-Vijapur-Hubli is the National Highway No.
(1) Nine (2) Thirteen (3) Seven (4) Eight

TS RIS AMTT/SPACE FOR ROUGH WORK
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88. v Feien fogwa gy v ?
(1) e (2) MR (3) EH (4) I
Which river is known as sorrow of Bihar ?
(1) Kosi (2) Damodar (3) Gandak (4) Ghagara
89. T I JYMANT FHIY FHIVAT AL TG 374 7

(1) w9 (2) TS g (8) it (4) Togew 7o
In which soil, the percentage of iron and aluminium is more ?
(1) Black soil (2) Alluvial soil (3) Laterite soil (4) Yellow soil

90. ARV TEAT § HTFSE Tl ST HFeT T .
(1) Rum=a v (2) HEWISg
(3) TR (4) T
The number of wild life sanctuaries and the area under sanctuaries is more in
state.
(1) Himachal Pradesh (2) Maharashtra
(8) Gujarat (4) Rajasthan
91, SF F HIBR A1 oA Te TeTTel FeTioRgd Nehed RIECEE)
(1) T (2) o (3) Fa= (4) =4
Salal Hydro Electric Project in Jammu and Kashmir state is on river.
(1) Ravi (2) Biyas (3) Chinab (4) Vyas
92. WRANIA Tl ST el IedTGH HOM T AR,
(1) FAlew (2) FES
(3) UMW (4) ITW YW
Largest copper producing state of India is
(1) Karnataka (2) Jharkhand
(3) Andhra Pradesh (4) Uttar Pradesh
93. HHTUT AT SHU-Fall FehodTs TUH 71 Rregaa oM.
(1) Tt (2) Taygt (3) eI (4) W

The proposed Jaitapur Atomic Power Project has its location in
district.

(1) Ratnagiri (2) Sindhudurg (3) Kolhapur (4) Solapur

ol HMTHTE! AWN/SPACE FOR ROUGH WORK
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94.

22

FFU o8 WSS Taid o ST 1 fowmoft atR.

(1) smeaet (2) R 3 femm (4) Fomsm
The largest tunnel on Konkan railway route is at
(1) Aadavali (2) Karbude (3) Diva (4) Chiplun

95.

WTATeueh! IV NeeaTd SISl 9% SH{avaTaT JUrT Hige FHIE |iemt 7

() gz (2) wfrd (3) W@ (4) e

State the name of the district where leather material (goods) are produced on a
large scale.

(1) Sindbudurg (2) Ratnagiri (3) Satara (4) Kolhapur
96, TEEaH! Ko fEhmoTg TERrerdie FUY! 38 Feea wid !

(1) M= (2) S C(3) W (4) OISR

Which of the following is known as ‘Cherapunji of Maharashtra’ ?

(1) Matheran (2) Amboli (3) Ramtek (4) Lonawala
97. QrefeTie FHIvr ee TeERmHed A=A g T4l Hial AR 7

(1) go (2) TR (3) 3 (4) HrEETR

Which of the following is the largest district in terms of population in Maharashtra ?

(1) Pune (2) Nagpur (3) Thane (4) Kolhapur
98, TERTZ=A1 FIven Rieeama AfSeT-d%es ol atea 7

(1) g (2) 3TEHITR

(3) TERE (4) &R

In which district of Maharashtra Ajantha-Ellora caves are located ?

(1) Pune (2) Ahmednagar

(3) Aurangabad (4) Latur
99, TR Wiefiateh =hvre fawmfl S it g g% Fuam AT AR 7

(1) @ig (2) RTE (3) vEfraE (4) FFTA

Where is the sugar-cane research center from the following places started in

Maharashtra ? ,

(1) Lonand (2) Padegaon (3) Shekhmirewadi (4) Kagal

100. TAEYR Fvrd Tt TEFATerRT A 7

(1) TP @ T (3) gor (4) TN

Which of the following settlement is not a Municipal Corporation ?

(1) Nagpur (2) Bhiwandi (3) Pune (4) Buldhana
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101. I, DTS, @S I T i AT gaTyeR Jred .
(1) g=m (2) "rae (3) eween (4) IR AT
Uttaranchal, Chhattisgarh, Jharkhand states were formed during
Five Year Plan.
(1) Ninth (2) Seventh (3) Eighth (4) None of these
102. AT=A1 SETeAl TeaTNeh ASHIAR (2002 -2007) el ST TS TR U
e g o1,
(1) 50.3 (2) 40.4 (3) 45.0 (4) 58.4
As per tenth plan of India (2002-2007) still the agricultural sector estimates to
provide percent employment.,
(1) 50.3 (2y 40.4 (3) 45.0 (4) 58.4
103. fewrge Aiemn fafde UeETiie A e oTR,
(1) dfgen (2) g&=n (3) Tom=m (4) e
The formation of Hirakud project is the result of Five Year Plan.
(1) First (2) Second (3) Third (4) Fourth
104. & Trais STRinT ufeet sreaey 2.
(1) #h. SEees 45 (2) aﬁ.u@am
(3) . . . wnE (4) . %. = uq
was the first President of the Planning Commission.
(1) Shri. Jawaharlal Nehru (2) Shri. Rajendra Prasad
(3) Shri. C.D. Deshmukh {(4) Shri. K. C. Pant
105. SR Ifeet @d FHEMT qieedn doaTfis deqd % gE HTe.
(1) wfést 2) fah (3) kel (4) T
First fertilizer plant was established at during the First Five Year
Plan in India.
(1) Bhatinda (2) Sindri (3) Kochi (4) Hajira
106. 11 =1 T9aTiie AT HEE AR,
(1) 2008-2013 (2) 2009-2014 (3) 2007-2012 4y 2010-2015
The period of Eleventh Five Year Plan is
(1) 2008-2013 (2) 2009-2014 (3) 2007-2012 {4y 2010-2015
107. WETcAierish HvT FqdER =TT SRarTT HTEHTT Yord SR T g6 fiesa ?

(1) g7 32 (2) &ig=s 25 (3) =R U4 (4) =R 30

Which of the following guarantees protection of fundamental rights through
judicial intervention ?

(1) Art. 32 (2) Art. 25 (3) Art. 14 (4) Art. 30

Hoedl BIATAIE AT/ SPACE FOR ROUGH WORK
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108. WieAicAtsht v 3fewest Toarey| Arleyies gwimed gaTas Jrd) ?

(1) T g gt (2) FReTrene wengar s

(3) STASEA STl TEITa o (4) <ErarE e 1 wl

Which of following is not an objective of the Directive Principles of State Policy ?
(1) Prevention of cow slaughter (2) Establishment of cottage industries

(3) Promotion of international peace (4) Abolishing capital punishment

109. WRAR TreeAT Treft T TeRTmTa STl
(1) s/ 26, 1949 (2) s 26, 1949
(3) SET 26, 1950 (4) egsk 10, 1949
The Constitution of India was adopted on
(1) November 26, 1949 (2) January 26, 1949
(3) January 26, 1950 (4) November 10, 1949

110, W gt fames Fvr ?
(1) TS & TEHTeH =ITuTieTeh
(2) =maufasn ffiegs fate =@
(3) =rauifererg wen FEfa #wa
@ B

What is the feature of Indian Judicial system ?
(1) A single and unified judicial system

(2) Legislative controls the judiciary

(3) Government controls the judiciary

(4) All of these

111, Tdieed daims) sttt fea wae Judt ST,
(1) @™ (2) d= (3) =W (4) =

Anglo-Indian members are nominated by the President to the

house of people.

(1) Three (2) Two (3) Four (4) Five
112. netet swEem= A o gt gen wmos =i
(1) T=a faftmes (2) FHEF TEs
(3) "ua (4) =IHEs
is the highest law-making body of the country.
{1) The State Legislature (2) The Union Executive
(3) Parhament (4) Judiciary

HESdT HIATATS! ATTT/SPACE FOR ROUGH WORK
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113, AT UsdEe-=al AT ANTRET=AT HoTo Sahliarl] Tida] sFavgrd 3TTedT
TR
(1) ufgen (2) g&=a (8) fam=m (4) <hem
Provision regarding fundamental rights are made in of the Indian
Constitution.
(1) Partl (2) Part I (3) Part I11 (4) Part IV
114, 39 IR SRTG HgH g el ST,
(1) ga=g e (2) TSI
(3) T (4) Tl
Judges of the high court shall be appointed by the
(1) Supreme Court (2) Governor
(3) Chief Minister (4) President

115, furufes smeen vsardier faum gftegs wfia =1 40 9 STdd S o UsaTdie fageEe

TEW T Tk TR 37 Iham,

(n AghEm (@) ke (@) wk wgei (4) =TT T

The total number of members in the Legislative Council of a State having such

Counctl shall not less than 40 and shall not exceed of the total

number of members in the legislative assembly of that state.

(1) Two third (2) One third {3) One fourth {4) None of these
116. N il ST TSI STIEHT TR g e,

(1) gt (2) HasEH

(3) T&e (4) HI=a AT

The Governor shall hold office during the pleasure of the

(1) President (2) Prime Minister

(3) Parlhiament (4) Supreme Court
117. B HHUS 9 e GHee gaT v i T, :

(1) geah (2) dawEH

(3) et (4) T

acts as a link between the Central Government and the State

Government.

(1) Chief Minister (2) Prime Minister

(3) President (4) Governor

e ShIATATS AP/ SPACE FOR ROUGH WORK
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118. TS THfiHee™=a Safiear seraeen ? A,
(1) TSI (2) T™I™ GRE
(3) gEawA! (4) T=O9THA
The meeting of the state cabinet presided over by
(1) Vice President (2) Secretary of State
(3) Chief Minister (4) Governor
119. TERSIGH Siehdsn a T Fatfm g aewr=h v ge@ g R,
(1) 288 @) 19 (3) 48 4) 67

The total number of members elected to the Lok Sabha and Rajya Sabha from
Maharashtra is A
(1) 288 (2) 19 (3) 48 (4) 67

120. PR T T sy geenfawiear T9iE Wl HEATGERAGR THIIIE
HRIATd HTII.
(1) 73 (2) 74Em (3) 86 =TT (4) 42 =
Provisions regarding new local self governing bodies in urban areas were
incorporated by amendment.
(1) 73rd (2) 74th (3) 86th (4) 42nd
121, TE Qg TR g FrgFa e S
(1) Tesiiterrd (2) I e
(3) dEHIIER (4) "R famm i
Police Patil of the village shall be appointed by
(1) District collector (2) Sub divisional officer
(3) Tahsildar (4) Block development officer

122. WERTSRS U=Tga T b iwe Fifesa wamnd) gara gem wiordl e Aue g ?
(1) .. PRI (2) ST
(3) THAUE ATEE (4) e . &, o
Which was the first Committee appointed to finalise the structure of Panchayat
Raj in Maharashtra ?
(1) L.N. Bongirwar (2) Baburao Kale
(3) Vasantrao Naik (4) Principal P. B. Patil

HeAT HIHTEATE ARM/SPACE FOR ROUGH WORK
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123. WERITTE T Tredel ARMEE v g@ard T4 et 3R 7

(1) G gHRH HERS (2) Hd M HERIS
(3) WA et HERIS (4) Fa TS TETCS
Which Saint’s name has been attached to the village cleanliness drive in
Maharashtra ?
(1) Sant Tukaram Maharaj (2) Sant Gadge Maharaj
(3) Sant Tukdoji Maharaj (4) Sant Namdev Maharaj
124, TGS g femam s1R.
(1) st (2) T (3) TEW (4) Tefrieh
Gosikhurd Dam is situated in district.
(1) Beed (2) Jalna (3) Chandrapur . (4) Gadchiroli

125. TmuEEdm foedt awres o wRard 7

() 7410 (2 7917 (3 10915 (4) 157 20
How many members should be in a Gram Panchayat ?
(1) 7to10 (2) Ttol7 (3) 10to 15 (4) 15to 20

126. ‘Semol’ Gie Sensh dafyg e ?
(1) YT Y[ uTuft Ea
(2) fermeatan fyvame @ w1 g
(3) ureET™ YUl WSV
(4) UTUHTET SYF STIT !
‘Jalmani’ scheme is related to
(1) Providing drinking water to cities
(2) Providing drinking water to students

(3) Conserving rain water
(4) Sensible use of water

127. Hetedr M T AR Bt wEE 2005 A=A IePS M hodloEd IV NeeHl R

i ?
(1) INTTETE, Tyt (2) 3NmETE T nSfaTet
(3) TR, 4y (4) e, oTER

(Give the name of districts that awarded under the Mahatma Gandhi employment
guarantee scheme 2005 for their excellence.

(1) Aurangabad and Vardha (2) Aurangabad and Gadchiroli

(3) Gadchiroli and Dhule (4) Gadchiroli and Usmanabad

HESGT HIATATS! WRIT/SPACE FOR ROUGH WORK
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128, ‘STHel UHES! WAM IVl SIS See! 3R 7
(1) Fa2 (2) W (3) Wi (4) W
From which country the submarine ‘Akula’ has been purchased by India ?
(1) England (2) France (3) America (4) Russia

129. i fova wadt wfees avier 18 R wed ?
(1) - (2) FTHHiEER
3) 3 (4) =gt
Where is the second “Marathi Vishwa Sahitya Sammelan” took place ?
(1) Hong-Kong (2) San Francisco
(3) Dubai (4) New York

130. amferan wfig Wt gepR T foresre.
(1) T. IR, A (2) PR gEA
(3) = (4) S Afera
Who awarded the famous ‘Gramy’ award of America ?
(1) A. R. Rehman (2) Zakir Hussain
(3) Naushad (4) Jatin Lalit

131. it frenfiem wRarsa S qagaHrEaT TEam Rt SR Sl ?
(1) s meh (2) AT T
(3) wHE fam (4) 9. =, weswa
Give the name of Prime Minister of India that Cambridge University announced
the scholarship.
(1) Indira Gandhi (2) Jawaharlal Nehru
(3) Manmohan Singh (4) P.V.Narsinghrao

132. Witg feserr T, . gEF I T 3T AR SR ¢

(1) fafen (2) 3mHA (3) Fd (4) FaX

Which is the name of country that well-known painter M. F. Hussain has accepted
the citizenship ?

133.

(1) Libya (2) Oman 3) Kuwait (4) Qutar
=t it HeleaT FATRRIY TS H1F 3R ?

(1) A= (2) ITER (3) M (4) TR
What is the surname of the actor who performed the role in “Tingya’ ?

(1) Ombale (2) Vaspate (3) Goyekar (4) Boyekar

THoogT HHTETE! ARTT/SPACE FOR ROUGH WORK
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134. ‘97"’ (SEZ) = fawarfa &9 @ 1R 7
(1) Wi geRiHiTS (2) T RATHE Fe
(3) TS RIS H (4) gfcda s @m
What is the full form of “SEZ” ?
(1) Small Economic Zone (2) Social Economic Zone
(3) Special Economic Zone (4) Service Economic Zone
135. AT T A= @O i3 gt
(1) =ER (2) SAATEETE (3) mm (4) *ia
Where does the Yamuna join the Ganga ?
(1) Handwar (2) Allahabad (3) Agra (4) Meerut
136. el 3efdd shoef! B R T AN AT .
(1) (2) e (3) gl (4) WAl
The small car launched by Tata’s 1s known as
(1) Nano (2) Alto (3) Sumo (4) Primo
137. @Il ol AT A9 Jifitae 37 7
(1) = T, T (2) HomH el
(3) afeam &l (4) sifw afm
Which of the following has sought asylum 1n India ?
(1) V.S. Naipaul (2) Salman Rashdie
(3) Taslima Nasreen (4) Dorris Lessing
138. USATH I T&ITe ITEAET 10T 3R 7
(1) s wAEE (2) FIR. IR, 9
3) Ty AHTq A6 (4) ¥RQ Y4
Who is the President of Nationalist Congress Party ?
(1) George Fernandis (2) R.R. Patil
(3) Laloo Prasad Yadav (4) Sharad Pawar
139, WERTEE 2008 ® T s rEvH TSR shvard e 7

(1) wfeeht e ad (2) Hrgray

(3) T1&RaT 9y (4) fger facshrg a9

Year 2008 was celebrated in Maharashtra as

(1} Information technology year (2) Sports year

(3) Literacy year (1) Women's development year
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140. wwmer fieafrr g fmveren fhdt e grer firerer 7
(1) @m (2) == (3) 18 4) &
How many Oscar awards were bagged by the film Slum Dog Millionaire ?
(1) Seven (2) Ten (3) Eight (4) Nine
141. I safeas frere fem revm wRT Sher ST,
(1) ST e (2) TH. TURFH,
(3) TSI% wHTE (4) sfew meh
Teacher’s day is celebrated on the birthday of
(1) Jawaharlal Nehru (2) S.Radhakrishnan
(3) Rajendra Prasad (4) Indira Gandhi
142. THEE SATET FITEIEY A ST Sl 7
(1) gasa Tt (2) 26/11 TE9qEE ool
(3) TIUaREiT MY TATRIE (4) HES Bl
Why was the Nanavati Commaission constituted ?
(1) Mumbat riots (2) 26/11 terrorist attacks
(3) Godhra massacre in Gujarat (4) Attack on Parliament
143. 2008 Trerar HeTe MHi AR Tadl § e TR ST &M FHTemd AT ?
(1) med a9 (2) UH, &. At
(3) W et (4) T HIEN
Who amongst the following was given Mahatma Gandhi International Award for
reconciliation and peace in 2008 7
(1) Amartya Sen (2) L. K. Advani
(3) Soniya Gandhi (4) Nelson Mandela
144, affeifues wutre sfime fogm wiven ge v gaol ges el ?

(1) TR TR e (2) T

(3) fopfes (4) =T 3D

In which event did Abhinav Bindra win Olympic gold medal ?
(1) Air Rifle shooting (2) Wrestling

(3) Gymnastics (4) Long jump
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145. 2008 = §-TTog-~g T YRR I ToaH el ?
(1) 98N (2) IHgwR™
(3) feeetl (4) FAEH
Which state won the best e-Governance state award in 2008 ?
(1) Maharashtra (2) Andhra Pradesh
(3) Delhi (4) Karnataka
146. U GEERTE ST AR 5% (2oRF) Tequ faat g,
(1) o (2) STEIH (3) WeWTY (4) fosr
Gurjjars have been given 5 percent reservation in servicesm
State Government.
(1) Gujarat (2) Rajasthan (3) Maharashtra (4) Bihar
147. 8UH FEU[ YT ST,
(1) ofawga Aigen kA (2) o vey fam
(3) W gk A (4) STfeRR STAR f
8th March is observed as
(1) International Women’s Day (2) World AIDS Day
(3) Human Rights Day (4) World Labour Day
148, TEAUH! SV EUE GES STo-AeI @edls el ?
(1) s (2) AT (3) worshh (4) 7 g
Which of the following city does not have the Mumbai High-Court bench ?
(1) Aurangabad (2) Nagpur (3) Panjim (4) New Mumbai
149. 2008 @rer= $f1-8 ey aftye w1 Svarg ameft ?
(1) @A (2) | (3) 9@ (4) TS
Where was the G-8 Summit 2008 held ?
(1) London (2) Rome (3) Paris (4) Hokkaido
150. ‘ST ! I =el 3§ e wioft fafea ?

(1) Tosm dgaet (2) 99d &9

(3) AN 9ER (4) TET FHZH

Who has written the play ‘Silence ! The Court is in Session’ ?
(1) Vijay Tendulkar (2) Vasant Bapat

(3) Santosh Pawar ' (4) Vasant Kanetkar
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(8) wvTifeee fafta Foen fafire swie w2 wm (T ad) F09. wayfkererffer Imafis
AT FOR FRIGIER Fod hIH FOATE o T FOAT=H1 JWH Hel 1R, HA THA e 9 ETHR
IUEIRIE TR S Shetean *wiammes gior=g; ftgerria Tfaey swogemses sffea-82"
AR TIEAUR HNER AT J5¢l o 2] =ad! FArel Tk a9t wrramrean s/ frer s
U BT THUEAT ST 8T U g,

(9) T FEuERaTE! s fafss Sl 3o gueurda Iugaren B wegfee b gl
AT U3 STV TN 377, WTH THeIT HerTanel FIvaTge] SHEane Ao
ITATRET AT — | THALTRTne 3 o uta wo amavass e,

qHAT W9
T, 201, T Wiel T FoamEidl w ol ged: T e 7
(1) T ggTHe T (2) SR faaEm
(3) TT UHATEA Ty (4) TSR MG

9. %, 201

B YT A0 IO (3) TR UAEIES WY A0 SR, Wged 1 W I (3)) R,
I WIATATHTR 0. %, 201 GHSA IW-FAG  (3) ¢ 4B QU0 BRIHa Fed
zrafau TawE AR,

O ® e ©

379N U= T TRYfEahe e Tee STATE gHE SatGhHR 8 QRaTe S giedn
IR o o T HTH RIS Geiad 34 qUiv Srifed s qraardr. gt
e HT&AT I =T arod, af e =1 g 9 aTuss .
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